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ECONOMICS

( Honours Core )
Paper : ECO-HC-4026

( Intermediate Macroeconomics—II )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese
1. Answer the following questions : 1x10=10
T TR e
(a) What is fixed investment?

& Rivaa 2

(b) What is government debt?
e ¥R
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(c)

(d

(e

(9)

M
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(2)

What is effective demand?

Afery oifkm R 2

What is consumption function?

e IR 2

Who provided the Rational Expectation
hypothesis? :

Forsre  FAOPT IR RN (I
HSRTERE ?

What is neutral technical progress?
e 2SS 2

«Central bank of a country formulates
monetary policy.” Is it true or false?

“eg (PR (RN QTT CIfE A o
IE 1" G IS (SO ?

Who propounded endogenous growth
model?

e REME SGHT I SO IR 2
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2. Answer the following questions :

(3)

Name one new-classical economist.

G5 G- YRR T forat |

Mention one limitation of Solow model.

va’ W7 GO NS w40 1

2x5=10

Sorq PR ed fra

(@)

(b)

()

(d)

fe)
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What is meant by liquidity trap?
oREy F% o & g@?

Mention two limitations of classical
theory.

WIS TG o1 TSl Sead 347 |

Define golden rule of Solow model.
va SR oI ST At forr

What is Ricardian equivalence?

RS et &2

Mention two elements of endogenous
growth

TEEe R 751 Somm Brag 341 |
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(4)

3. Answer any four from the following
questions : 5x4=20
o9 2P o1 R (e vk Te fran

‘(@) Explain the basic features of new-
classical school of macroeconomic

thought.
SRR SRARSTF SRR TI-TZS (N9
e CAMBPTR I 91 |

(b) Explain the objectives of monetary
policy.
o M ARBPTR I 40|

(¢ Explain the budget constraints of the
government.

IR ACHOT AYPTHR AT/ FT |

(d) Explain various motives of demand for
money as indicated by Keynes.

@E IE T WA G SSARCIRET I
9 |

(e) Explain the dissimilarities between
Harrod and Domar growth models.

T’ 9 TR Rer enfdy qe| (FPER
T 34 |
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4. Answer the following questions :

(5)

Discuss various determinants of
business fixed investment.

e B RiAamr R s w10

S 2P e i

(@

(b)
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Critically discuss the Solow model of
economic growth.

Ay gftafes RerR WG smcEwa
STRFIE SO 40 |

Or / 9T
Discuss the instability of growth process

of Harrod-Domar models.

@I’S-BNR Wi wfRT Rert afem samw
I

Critically discuss the life-cycle
hypothesis of consumption function.

o191 I ERA-5&F SENCO! SAACADAT FZII
AL 4T |
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(6) (7)

Or / oAl Or / &AT

Critically discuss Fisher’s theory of Discuss the relationship between
optimal intertemporal choice. technological progress and elements of

R 70 WEliRe o7 S T * endogenous growth. 10 -

R SCATA A1 | wfee wafe W weRe  RerR
| - AT WA SR Sl 41 |

() What is meant by random walk of
consumption expenditure? Discuss
various factors determining con-
sumption function. 3+7=10

sfvafe corl IR S e R @2 e IR
R 331 RSH SAMERIR SIS F41 |

* %k %

Or/ 9q i

economics. 10

RTPn TR wfAeE SRYRR T
CIPBICIIN SICEToAT 3541 |

. . . \
Discuss the main features of Keynesian -
\

|

(d) What are the main targets of monetary
policy? Discuss the rule versus
discretion of monetary policy of a
country. 4+6=10

T T &1 o B B2 9= orm
e NSt ey T T Racr wicemsn
ol
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